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                        CHAPTER: 6 :  OUR  CLIMATE   

 

ANSWERS: 1. HOT DAY,  2. COLD DAY,  3. HOT DAY, 

4. RAINY DAY, 5. COLD DAY.   

  

 
  

ANSWERS : 1. Cotton , 2. Weather,  3. Three,  4.       



January , 5. Tamil nadu.  
 

 

 ANSWERS: 1-a , 2-c , 3-b , 4-b , 5-d.  
 

 

ANSWERS: 1. Temperature,  2. November ,February 

3. Western disturbances,  5. Cool breezes .  
 

 

 



ANSWERS:  

Ans: 1. Difference between weather, and climate is 

the duration over which they are measured. Weather 

includes the short-term changes of the atmospheric 

conditions, while climate is the observation of 

weather for a longer-term.  

Ans :2 . Western Disturbance plays important role in 

bringing moderate to heavy rain in low-lying areas 

and heavy snow to mountainous areas of the Indian 

Subcontinent especially in winter. This disturbance is 

usually associated with cloudy sky, higher night 

temperatures and unusual rain.  

Ans:3. The  monsoon winds carry water and it rains. 

Clouds bring rain and give us happiness. Farmers in 

our country depend mainly on rains for their 

harvests. So, monsoon winds are helpful .  

Ans: 4. Meghalaya state in India receives the highest 

rainfall and Rajasthan is state receive the lowest 

rainfall.  

D. Think and answer:  

Ans: The Chennai is situated in the coastal areas of 

our country and that's why the allover temperature 



remains normal in the summer seasons also. 

Because,the cool breeze which comes from the 

ocean region , works as a coolant substance and the 

temperature remains normal even in the summer 

months.    

 

 

 
Ans: 1.Delhi .  

Ans: 2. Because port blair situated at higher altitude 

than Delhi. And it also situated at higher latitude 

than Delhi thus it gets inclined sun rays than Delhi. 

That’s why port Blair is cooler than Delhi.  

Ans: 3. Gangtok , the capital has experienced the 

lowest minimum temperature 6.1degree Celsius, of 

the season, yesterday. 'It has been snowing in 

North Sikkim and higher altitudes. Gangtok has 



also experienced coldest times. 4-millimetre rain, 

this is the cause of temperature dropping down.  

Ans: 4. Shimla.   

IN H. W.  PART ( F, G AND H ) TRY TO SOLVE IT :  
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